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1. 1 ( =1.1)
(Fr) Fr(N)=fo+f,V2(V  km/hr)
2.




Sec (X)
kg 105-95| 85-75 | 65-55 | 45-35 [ 25-15 oy f,

kph kph kph kph kph N N/(kph)*2
450( kg) 3.4 4.7 6.9 10.2 14.5 74.5 0.0295
510(481~540) 3.6 5.1 7.3 10.6 14.8 84.4 0.0304
570(541~600) 3.9 54 7.6 11.0 14.9 94.3 0.0312
620(601~650) 4.1 5.7 7.9 11.3 15.0 ( 103.0 0.0320
680(651~710) 4.3 5.8 8.2 11.4 15.1 113.0 0.0327
740(711~770) 4.5 6.1 8.4 11.7 15.2 123.0 0.0334
800(771~820) 4.7 6.3 8.6 11.9 15.3 132.0 0.0343
850(821~880) 4.8 6.4 8.8 12.0 15.4 141.0 0.0350
910(881~940) 5.0 6.7 9.0 12.2 15.4 ( 150.0 0.0358
960(941~990) 5.1 6.8 9.1 12.3 15.5 158.0 0.0365
1020(991~1050) 5.2 6.9 9.3 12.4 15.5 169.0 0.0372
1080(1051~1110) 5.3 7.1 9.5 12.5 15.5 179.0 0.0381
1130(1111~1160) 55 7.2 9.6 12.6 15.6 187.0 0.0388
1190(1161~1220) 5.6 7.3 9.6 12.7 15.6 197.0 0.0396
1250(1221~1280) 5.7 7.4 9.8 12.8 15.7 207.0 0.0404
1300(1281~1330) 5.8 7.5 9.9 12.9 15.7 215.0 0.0410
1360(1331~1390) 5.8 7.6 10.0 12.9 15.7 225.0 0.0418
1420(1391~1450) 5.9 7.8 10.1 13.0 15.7 235.0 0.0427
1470(1451~1500) 6.0 7.9 10.2 13.1 15.7 243.0 0.0434
1530(1501~1560) 6.1 8.0 10.2 13.1 15.7 253.0 0.0441
1590(1561~1620) 6.2 8.0 10.4 13.2 15.7 263.0 0.0449
1640(1621~1670) 6.3 8.1 10.4 13.3 15.8 271.0 0.0456
1700(1671~1730) 6.3 8.1 10.5 13.3 15.8 281.0 0.0463
1760(1731~1790) 6.4 8.2 10.6 13.4 15.8 291.0 0.0473
1810(1791~1870) 6.4 8.3 10.6 13.4 15.8 299.0 0.0479
1930(1871~1980) 6.5 8.4 10.7 13.5 15.8 319.0 0.0495
2040(1981~2100) 6.7 8.5 10.8 13.5 15.9 338.0 0.0511
2150(2101~2210) 6.8 8.6 10.9 13.5 15.9 356.0 0.0525
2270(2211~2320) 6.9 8.7 11.0 13.6 15.9 376.0 0.0541
2380(2321~2440) 6.9 8.8 11.1 13.7 15.9 394.0 0.0555
2490 (2441~) 7.0 8.9 11.2 13.7 15.9| 412.0 0.0571

1. ( )1 5 ( I 1.5f ) 3

(Fr) Fr(N =f9+f V2 km/111r§

[4=13) r(NN=Ffn+f1 « \/ (\/ km/hr\

Sec (X)
kg 105-95 | 85-75 | 65-55 | 45-35 | 25-15 | f, f,

kph kph kph kph kph N N/(kph)"2
450( kg) 34 47 69| 102| 145| 745| 00295
510(481~540) 3.6 5.1 73| 106| 148| 844| 00304
570(541~600) 3.9 5.4 76| 110| 149| 943| 00312
620(601~650) 4.1 5.7 79| 11.3| 150]| 103.0| 0.0320
680(651~710) 4.3 5.8 82| 114| 151| 1130| 0.0327
740(711~770) 45 6.1 84| 117| 152| 1230| 0.0334
800(771~820) 4.7 6.3 86| 11.9| 153| 132.0| 0.0343
850(821~880) 4.8 6.4 88| 120| 154| 141.0| 0.0350
910(881~940) 5.0 6.7 90| 122| 154]| 150.0| 0.0358
960(941~990) 5.1 6.8 91| 123| 155| 1580| 0.0365
1020(991~1050) 5.2 6.9 93| 124| 155| 169.0| 0.0372
1080(1051~1110) 5.3 7.1 95| 125| 155| 179.0| 0.0381
1130(1111~1160) 5.5 7.2 96| 126| 156]| 187.0| 0.0388
1190(1161~1220) 5.6 7.3 96| 127| 156]| 197.0| 0.039
1250(1221~1280) 5.7 7.4 98| 128| 157| 207.0| 0.0404
1300(1281~1330) 5.8 75 99| 129| 157| 215.0| 0.0410
1360(1331~1390) 5.8 76| 100| 129| 157| 2250| o0.0418
1420(1391~1450) 5.9 78| 101| 130| 157]| 2350]| 0.0427
1470(1451~1500) 6.0 79| 102| 131| 157| 2430| 0.0434
1530(1501~1560) 6.1 80| 102| 131| 157]| 2530| 0.0441
1590(1561~1620) 6.2 80| 104| 132| 157| 263.0| 0.0449
1640(1621~1670) 6.3 81| 104| 133| 158| 271.0| 0.0456
1700(1671~1730) 6.3 81| 105| 133| 158| 281.0| 0.0463
1760(1731~1790) 6.4 82| 106| 134| 158| 291.0| 0.0473
1810(1791~1870) 6.4 83| 106| 134| 158]| 299.0| 0.0479
1930(1871~1980) 6.5 84| 107| 135| 158 319.0| 0.0495
2040(1981~2100) 6.7 85| 108| 135| 159| 3380| 0.0511
2150(2101~2210) 6.8 86| 109| 135| 159 356.0| 0.0525
2270(2211~2320) 6.9 87| 110| 136| 159]| 376.0| 0.0541
2380(2321~2440) 6.9 88| 111| 137| 159 3940| 0.0555
2490  (2441-~) 7.0 89| 112| 137| 159| 4120| o0.0571

b 3 () ¢ ftzl')j)

(Fr) Fr(N)<f szfz iy
(Fr r(Kh=fo+f1 - V (v km/hn
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(ASTM) (ASTM)
s ( )(Octane, Research, Min ) 93 D 2699 s ( )(Octane, Research, Min ) 93 D 2699
( )(Sensitivity, Min) 7.5 ( )(Sensitivity, Min) 7.5
Lead (organic), max. g/U.S. gal.(g/ liter). 0.050(0.013)(g/liter) D 3237 Lead (organic), max. g/U.S. gal.(g/ liter). 0.050(0.013)(g/liter) D 3237
(Distillation Range) D86 (Distillation Range) D 86
IBP () Y 75-95 (23.9-35) BP () Y 75-95 (23.9-35)
10 () 120-135 (48.9- 57.2) 10 () 120-135 (48.9- 57.2)
50 () 200-230 (93.3- 110) 50 () 200-230 (93.3- 110)
90 () 300-325 (148.9-162.8) 90 () 300-325 (148.9-162.8)
EP () 415 (212.8) EP () 415 (212.8)
(Sulfur) 0.0015-0.008 D 1266 (Sulfur) 0.0015-0.008 D 1266
(Phosphorous) g/U.S. gal .(g/ liter). 0.005 (0.0013) D 3231 (Phosphorous) g/U.S. gal .(g/ liter). 0.005 (0.0013) D 3231
RVP psi(kpa)/ * ¥ 8.7-9.2 (60.0-63.4) D323 RVP psi(kpa)/ * ¥ 8.7-9.2 (60.0-63.4) D 323
(Hydrocarbon composition) D 1319 (Hydrocarbon composition) D 1319
(Olefins) vol 10 (Olefins) vol 10
(Aromatics) vol 35 (Aromatics) vol 35
(Saturates) (Remainder) (Saturates) (Remainder)
wt% wt%
wt% wt%
1 1,219 m (4000 feet) 75-105 deg. F (23.9-40.6 deg. C). 1 1,219 m (4000 feet) 75-105 deg. F (23.9-40.6 deg. C).
2 8.0-9.2 psi (55.2-63.4 kPa). 2 8.0-9.2 psi (55.2-63.4 kPa).
3 1,219 m (4000 feet) 7.6-8.0 psi (52-55 kPa). 3 1,219 m (4000 feet) 7.6-8.0 psi (52-55 kPa).

(US EPA CFR 86.113-04)

(US EPA CFR 86.113-04)
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